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5,032, 500

4, 575, 000

457, 500

3,261, 000

1, 314, 000
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3, 261, 000

2,120, 000

1, 401, 000

1. 000 1, 337, 000

1. 000 7. 000

1. 000 57,000
(4) x

1, 337, 000x 53. 850 53. 850 719, 000
(4+5+6+7) x

2. 120, 000x 53. 850 53. 850 1, 141, 000




3)

1, 337, 000

1. 000 1, 337, 000

1.000 1, 337,000

1. 000 1, 250, 000 1, 250, 000
15 25, 0.5m 0. 040 km 109, 280 4,371 13
15 25, 0.5m 0. 040 km 145, 600 5,824 14
15 25, 0.5m 0. 040 km 130, 240 5,210 15
15 25, 0.5m 0.150 km 131, 136 19, 670 4
15 25, 0.5m 0. 150 km 174,720 26, 208 5
15 25, 0.5m 0.150 km 156, 288 23,443 6
15 25, 0.5 1.0m 0.470 km 196, 704 92,451 7
15 25, 0.5 1.0m 0.470 km 218, 400 102, 648 8
15 25, 0.5 1.0m 0.470 km 195, 360 91, 819 9
15 25, 1.0m 0.450 km 262, 080 117, 936 10
15 25, 1.0m 0. 450 km 262, 080 117, 936 11
15 25, 1.0m 0.450 km 234, 432 105, 494 12

1. 000 57, 000 57, 000 1

1. 000 133. 300 133, 300 2




3)

1. 000 112, 400 112, 400 3
1. 000 234, 000 234, 000 21
1,249, 710
1. 000 87, 000 87, 000
.1.00 ,1.00 ,0.00 ,0.00 ,0.25 2.000 30, 450 60, 900 5
,0.00 ,1.00 ,1.00 ,0.00 ,0.25 .0 1. 000 26, 050 26, 050 6

86, 950
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3)

7, 000

. 000 7,000
(
. 000 2,000
. 000 2,000 2,000
1, .100.3 .0 . 000 2,025 2,025
2,025
. 000 5, 000
. 000 5, 000 5, 000
)
. 1 . 000 1,792 3,584
00km 100km
)
100km 10 . 000 1,792 1,792
Okm

5, 376
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1, 314, 000

2 1, 314, 000
3 699, 000
4 1. 000 626, 000
5 1. 000 0
6 1. 000 37, 000
7 36, 000
8 1. 000 36, 000
9 1. 000 0
10 0
11
(4+5+6+8- 17) x
699, 000x 0. 000 0. 000 0
12 1. 000 0
13
(4+5+6+8+10) x
699, 000x_88. 000 88. 000 615, 000
14 1. 000 0




3/

3)

15 1. 000 0
16 582, 000
17 0




2

626, 000

1. 000 626, 000

1.000 626, 000

1. 000 626, 000 626, 000

.0.30. 1,000 /12 ,0.00 0. 150 km 180, 813 27,122

.0.30,50 1,000 /112 ,0.00,0 0. 150 km 443, 906 66, 586

.0.30,45 .50 ,1,000 /12 ,0.00,0 0.150 km 938, 149 140, 722

1/ 200, . 1.500 ha 224, 891 337,337
1/ 200, ) .0.50 1. 000 54, 180 54, 180

625, 947




2

36, 000

1. 000 36, 000
1. 000 36, 000
1. 000 36, 000 36, 000
1. 000 36, 449 36, 449

36, 449




